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THIRD REVISION TEST -2023

10 Std T "gNo[ l j§
Time: 3.00 Hrs MA HEMATIi Marks : 19&/
ch PART -1 (1=14

oose the Correct answer. 14%1=
1. 1fn (AXB) =6 and A={1,3}then n(B)is Namakkal

a) 1 b)2 ¢)3 d) 6
2. Iff:A - Bis abijective function and if n(B) =7 then n(A) is equal to

a)7 b) 49 c)1 d) 14
3.. Ifthen HCF of 65 and 117 is expressible in the form of 65 m - 117 then the value of m is

a4 - b)2 c) 1 d)3
4. If6times of 6th term of an A.Pis equal to 7 times the 7 th term, then the 13thterm of the AP is
- a)l b) 6 c)7 d)13

5. If (x-6) is the' HCF of x2-2x-24 and x -Kx-6thenthevalueofkls a)3 b)5 )6 d)8

6. Transpose of a column matrix is °
a)unitmatrix  b) rectangular matrix - ¢) square matrix d) row matrix
7. Ifin AABC, DE II BC. AB=3.6 cm, AC=2.4 cm, and AD = 2.1 cm, then the length of the

side AC is
a)1.4cm b)18cm : ¢)1.2cm d)1.05cm

8. The slope of the line which is perpendicular to aline j jommg the points (0 0)and (-8, 8) is
a) -1 b) 1 =+ )18 d)-8

9. The equation of a line passing through the origin and perpendicular to the line 7x-3y+4=0
- @) 7x-3y+4=0 b) 3x-7y+4=0 ¢)3x+7y=0 d)7x-3y=0 = °
10.1f Sing +cosg =a and sec g+ cosec g =b thenthe value of b(a2-1) is equal to

a)2a b)3a. - : c)0. d) 2ab.
11. The curved surface area of a right circular cone of height 15¢m, and base diameter 16cm is
a)607 cm? b)68 »cm? ¢)120 r cm? . d)136 » cm?
“12.A sphencal ball of radius r, units is melted to make 8 new identical balls each of radius r, units
Thenr, :t, -. ' )21 b)12 c)41 d)1.4 .
13. Therangeofthedatas 8,8,8,. DA . a)0  b)1 ¢)8 d)3
14. The; ‘obaility of getting a job for a personis ; Ifthe probability of not getting the jobis -
3thr:\the\ralueofxls , a)2” b)1 )3 d)15
' PART | I
' Note : Answer any 10 questions (Q.No.28 is compulsory) 10X2=20

« 7A15.ARelation R is QIVGH by the set {(x .y) ly=x+3,x €{0,1,2,3,4,5)} Determine its domain
and range. U AN

16.Find Kif fo f (k) =5 where f(k) = 2k1 _ 22 Vi s
17.Solve 5x = 4(m0d6) 2 X3 (i)

18.Find the sum 3+1+3 o 2T, +00. BT 1, ,'
19. Fmdtheexcludedva!ueof——t*—"' SR i 214 =74
£2-514+6\ R

20.If Afs of order pxqand B is of order qXrwhatis the order ofABandBA? h | \‘ ~I3:

21.A man goes 18m due east and then 24 m due north Find the distance of his current posmon from
the starting point? (' l‘ : £ 4k
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L Find the value of {Eb’_/ -5 2) 7
; ([)N -l

22.The line through the pojints (-2, a)'énd (9,3) has slope = 5 " . g)

23.ProvethatJm= ‘ [ 2) (i N ,_,9,/1_1 . o
ltthe total surfasy Sosec +ootds Ej . : ) . P 2 then find its slant henghg\(z‘i 76

24. al surface area of a cone of radius 7 cmis 704 ¢M* NN 5,)

25 lfthe ratio of adii oftwo spheres is 4 7, find the raio Sfheirvolumes(7r 2} (P27

26.Find the standard deviatiof of first 21 natural numbers g 7(9\‘)’3' ) 29, )

27._lf P(A)=0.37, P(B)=0.42, P(AnB)=0.09, find P(AUB)(E 2 31'9 9 ( Dot :?) 2 ) .

28.Determine the nature of the roots of the equation /2 ¢* -3¢ +32=0"

. PART-lIl (> 13) ;:’PN -'m)
ote ,Answer any 10 Questions (Q.No.42 is compulso'ry). ' ’
123}B={123}C={34 yand D={1,35 } (AnC) X
(x):g- -1 ;Nhefe A=

10)('5 =50 |

(BnD) =(AxB)n(CXD)

N
{2,416!10'12 }

og/Given A={
39;@t i+ A -»B be a"function'defined 'by f
B= {o,'1,2,4,5, 9 } Represent fby.

j) set of ordered pairs ii) atable .
“The sum o f first n, 2 and 3n terms of an A.P are

- 31
esas8)
120, £ihd the sum to n terms of the series THTRETTTH oo

3/Find the square T00t of 64x* ~16x" +17x"~2x+1

o (adb 10 /
3;4/114;(4, d]and 1=(0 1] show that 4 —(a+d) A= (bc-ad); -

Qﬁite and prove pythagoras Theorem. ‘ R
by the points (-9,0), (-8, 6), (-1,-2) and (-6,-3)

%g,,Find the area of the quadrilateral formed
' P-l

37.If cos ecf +cos0 = pthen prové that oosé =7 ’
a of a spherical copper shell are 576 =cm’
he material required tomaketheshell. :
8 cm is melted toforma hollow sphere. If

. iv)agraph

-8, respectively: prove that

iii) an arrow diagram
s, S, and

the inner surface are
tively Find the volume of t
ameter 14 cm and height
here is 10cm, find the inner diameter

33,37,29,31. 23 :
bability of getting a

38.The outer and
324 7 cm? respec

39.A Solid right circular cone of i
the external diameter of the sp

40.Fipd the coefficient of variation of 24, 26,

44/fwo dice are rolled together. Find the po doublet or sum of faces as4.

P (-5,2)and parallel to the line

42. Find the equation of a straight line passing through the point
joining the points Q(3,-2) and R(-5,4) : g
. | PART - IV | D
Note : Answer all the questions. ' 58 | 2X8=16
43.Take a point which is 11 cm away from the centre of a circle of radius 4cm and draw the two
tangents to the circle from that point (OR): ' y
Construct a triangle APQR such that QR=5cm, ZP=30°and the altitude from P to QR is of
length 4.2 cm g ¥
44 Dravsthe graph of y=x’+x-2and hence solve x’ +x-2=0 (OR)
Draw the graph of xy=24, xy>0 Using the graph find
i)y when x=3and " ji) xwheny=6
10" - Maths -NKL- uaain-2
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N | Namakkal *
THIRD REVISION TEST, MARCH - 2020
STANDARD - X
rime : 3.00 hrs MATHS ‘ Marks: 100
Part-] 14x1=14

Note: i) Answer all the 14 questions.
Ii) Choose the most suitable answer from the given four alternatives and

"N write the option code with the corresponding answer.
1) ]f the ordered pairs (a+2,4) and (5, ‘2a+b) are equal then (a,b) is

Q@2 . bEy )-(2.3) d).3,-2)
2) If £A-B is a bijective function and if n(B)=7, then n(A) is equal to
a) 7 b) 48 o 1 Cod) 14
3) Given F=1, F,=3 and F=F_+F_, then Fs' ; |
a3 b)5 c) 8 . d 1 |
: \ 4) The next term of the sequence% % % 11— is 1
) 2l4 ‘:?’/27 )% i) B
5) y_2+172 is not equal to . ' -' ‘ ; |
) L D9 [ I (yf-})hz -
1357 |
6) For the given matrix A= 2 4 6 8 [then order of the matrix (AT)fis
’ 9 11 1315 |
a) 2x3 b) 3x2 - c) 3x4 d) 4x3
7) A tangent is perpendicular to the radius at the v
a)' centre  b) point of contact c). infinity d) chord -
8) If'(5,7), (3, P) dnd (6,6) are collinear then the value of Pis
a) 3 b) B4 it 6) O ~d) 12
9) (2,1) is the point of interection of two lines
‘a) x-y-3=0; 3x-y-7=0 - b) x+y=3; 3x+y=7
c) 3x+y=3; : X+y=7 | z =) x+3y—3=;0, x-y-7=0
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10) If xLatanG and y= bsece then
a) —;-1 b)—az--yg2 =1 c)—-— yb’ =1 d)— 1——
1) The height of a right circular cone whose radlus is_5cm and slgnt helght
is 13cm will be
" a) 12cm b) 10cm ¢) 13cm - d) Scm
) The total surface area of a hemi-sphere is how much times the square of
its radius
" ;)th ~b) 4n ¢) 3n - d) 2
€ standard deviation of x, y,zis P then the standard deviation of 3x+5
3y+5, 3z45 s y |
y :af) 3P+5 b) 3P c) P45 d) 9P+15
) If a letter is chosen at random from the English alphabets {a, b,.....z} then
the probability that the 1Ietter chosen precedes x '
a2 B o §) =
Part - 11 %
Answer Ten questions. Question No 28 is compulsory 10x2=20
| | 15) BxA= {(=2,3), (-2,4), (0, 3), (0,4), (3, 3). (3,4)} Find A and B. |
| 18} f(x)=2%+1 and g(x)= x*=2 find fogandgof - = R
1$)/a and ‘b’ are two posntlve |ntegers such that a“xb°=800 ﬂnd a' a}xd v,
18) If 19425432 410=44100 then find 1+2+3+...._.+k / 24
19)/Fmd the square root of 400x4y1zz‘6 "y
100x®y4z¢ ~ 4

20Y" Define Diagonal matrix.
24] State menelaus theorem.
" 22} Find th% equation of a Ime passing through_ the pomts (3 -4) and havmg
. slope == f’ﬁ Ly -./fﬁ\"}”‘ |
23) Fmd,the .Slope of the straight line 5y—3- et ) *F ™ ’? 3 ")

Find the angle of. e|§\ ation of op of a to&gaf{rom a point on the ground,
| whnch is 30M away from the ~of a towerof height 10V3! 3M.(° 6 ZW

-

25) The volume of a SO|Id right circular cone is 11088cm?. If its helght is 24cm

——ite LA e
g ;)

then find the radrus of the cope. ’ 777 143 ( {O N &85
I A B B
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3 X- Maths
zd) i) Volume of a hollow cylinder=_I7h (R

i) Volume of 3 "
( k . ;\ 27) Find the standardsp:et:tao_o%n ety ~@g*” s
= U ; 81/'Two unb| lrst 21 natural numbers. =
ased dice are rolled once. Find the probability of getting a doublet.
Answer 10- part Il (Lr} ¥.2 X)GN jﬂ)
questions. Question No. 42 is compulsory: 10x5=50
29). tet A= {1,2,3,4} and B={2, 5,8 11, 14} be two sets. Letf.A-B be a function

) Ca[/(hf‘-,(

({ given by f(x)-3x—1 Represent thiis function i) by arrow dlagram ii) in a table - ,,
— 7 form7iii), as a set of ordered pairs 'iv) in a graphical form(» Ez | j
39)/A fu U
. nction f: [-5,9]-R is defined as follows ‘
X Bx+1 if —B<x<2 ! e - ey e
f(x) = T : =7 '{ E’T“'; jds f'ff- f/n/ ?"3)
)= 9 51, if 2<x<6, Find 2f(-2)-f(6)\ -~ ' F ©
- Lax4 if 6<x_<9 ) +f(=2) '
31) 'fP 1xP X2xp Xaxp Xez imag i i !
‘ x P, P =113400 where P, Pz, P3, P, are primesin ascendmg :
/é order and X0 %, X, X, are integers. Find the value of P,, P, Ps. P,and
' 1' 2: x3 X r:/ L/ & 'ih:' 2 I‘ “:7' iF‘\SI %Q‘x} 7
. 32) Find the sum of all natural numbers between 300 and 600 which dwlsnble
by 7. | E'5 234 XPiv 65) , f
I\
P Lﬁi Pév 1)7)

A 3) Solve: X+y+z-5 eyhzeg; x—2y+3z-16 {200
4 (34) The hypotenuse of a right angled triangle is 25cm and its pegmeter 56cm‘> / ?

Fmd the length of the smallest side. i ; (}

- 35) (\/curé@ is inscribed in AABC having sides ‘ v
8cm, 10cm, 12cm as shown in figure, Find

AD BE and CF.
nd the area of. the quadnlateral formed by the pomts (8, 6), (5,11), (-5,12)

and (-4,3). . ,
h/}nd perpendlcular to the

A —12em — B

36)

37) Find the equation of a line passmg throug
line joining the points (6, 7) and (2,-3) , ¥ ‘ i__“' _’f‘

38) If Cosa -m and Ef_ =n, then/prove that (m2+n2) Coszﬁ . L)
: Cos B Sinp - // ”\/ : > ‘
// ) _," / . 7 o '; .:‘_, ’v
\__~
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N' | 4 X-Maths ¥
| is 45cm helght are 28%

. WhICh i
fthe radii of the circular ends of a frustum \
) R / ‘ J /([‘ "\f :2 (J ,—/

and 7cm find the volume of the frustum. L_ . J
nd height 8cm is melted to

40) A solid right circular cone of diameter 14cm a
form a hollow sphere. If the external diameter of the sphere is 100m Find

the internal diameter. ! £ X 7"1? P, o ( ¥ N 29 /

44 In a class of 50 students, 28 opted for NCC, 30 opted for NSS and 18 opted
both NCC and NSS. One of the students is selected at random Fmd the :
probability that (L% b .Y ) / PN 3,, i / :
i) The student opted lfor NCC but not NSS

i) The student opted for NSS but not NCC

m) The student opted for exacﬂy one of them

- e .
}Zﬂ" | and B'=, (1 3 .—6) show that (AB)T=BTAT
5 ey . o

: BRI Part - Iv
Answer both questions:- ; | : ;
A3) Draw a trian “ | |
gle of radl us 3cm. T ' o £rem1G
tangent at p | Skl o Point Pon this circle and draw a
Construct a APQR yypion . |
; R which the e [or
RORGis 6o . base PQ=4.5¢f, £R=350 1

‘G._B.H.S,.'School ffh
- komarapalayam
e NAMAKKAL |

: : nned with OKEN Scanner
Kindly send me your questions and answerkeys to us : Padas% Net&gmal l.com


https://www.padasalai.net/
https://www.padasalai.net/

